PEARFr LI EY ] EPEETE
Rk

R 3 30

1%

040422
AR A = R Elafxf =J(modm) , (m.n)=1, vk & K &
1=

(X5 Xy |5 O<a;<m a4 24 (__al..az._...._an |z A& A Bt L 1, (m)

89 F RAE 5t



LR 35

P
f.sﬁ

(R A R QZax =k(modm) , (mn)=1, vk & 3 f#

(xl, g Xn )2 O<ay <mm§;:;ﬂa1a Lap)Z i E 2 g f(m)

i3t

B4t @ kA R TIE  mhddk (B5=2B)

L & 4th E8 5 u] (05 L2 B -
2. 550 B2 AR R ﬁf:w ) o
335 it d BB (04§ R



" QZax =k(modm), (m,n)=1, vk =% ﬁ’é(xl,xz,...,xn)f
O<a-<mm§£§ﬂal 8.8 JESEERCIRANE S PN (1 E=s I

AR TR 2 R 2L FIB Y 2 FE 0 AAWP PFRT
a,b,c,d,r,mn, t# ¥ H(5 p 288 pd o X, v R x, vk B (a0 1 b)
# 57 Popeim=x F14k k k¥ Beats o £ 4 P ¥ b

IR
F &k el R ARRE > FTIRF 5 - S K AR BRI
» X A T AR BPlaxd +by? =kinHE 3P o R AR TS
R AE o

A~ ,{H;i“ B en
- ax=k(modm) VK1Z 73 fEpF\
a® % R g g afv’ﬂfl}ﬁit
= ax*+by? =k(modm) Vk{Z7F fEpF
(8., b) & om K ek 2z (a’ b) i B

= Yax =k(modm) vk £ {3 pE
(al,az’“’ n)' /$ Aim]l S (al’aZ!"',an)ﬁjfﬁ;Eﬁ
N IS
AOEE PR R E s 2

{Xn} : %\’ T‘Fﬁ‘:p in :%i—”']'é‘%,:%
CUREES S EEES L PR £ 3

= fp(m) @ &7 Yax =k(modm) vk} f3pb
#4t(a,,a,,-,a, ) hiB B

fiv 1y

L~ %% g I8
- HERE I Katl BEAS Za %G S Bk
= ¢ RSP T R B, pEL P, PO

n
B prlE- dh0<c<]]pf
i=1

#& &_c=c,(mod p”)
#0ecA0eBC={x+y|xeAyeB} " E'J|C|2min{[A|+|B|—1, b
K f(x) 5 % aE S

% f(t)=k'=k(mod p"),(p, f'(t)) =1 » B] f(ap" +t)=k(mod p*")
(FI32= ~ 2 M B3RP )

I



LM E
- ax = k(mod m)
BEARvk G fE2 ik 5 (a,m)=1
He 1) a’ﬁ p(m)
¥ 1. (m) = o (m)

= ax’+Dby? =k(modm)
(-)m=p
F 344 78 1% by® =k —ax®(mod p)

Flp ez 148 %G p—+1 ek
EEY, {byz}{k—ax }‘%’K"ﬁ p_+1 B~ %

% by? =k —ax?(mod p) 4 ﬁcp(x y)

.4p+1

Plpez 2 fltr kg BorPoepip 2 g

Epehz 2L EF pBAF 4G
#7020 va,b ax® +by? =k(mod p) 127 fE(x,y)
(ab)F (p-17 %
f,(p)=(P-1)" =¢(p)’
(Z )m=p"teN
F(@p) =1l Rl(ap=p
ax? +by? = k(mod p') = ax* + by? = k(mod p)
w(a,p)=p by’=k(modp)laiF f& P A §
~(a,p)=(,p)=1
F x*=y*(mod p') < x=y(mod p') 7 x=—y(mod p')
F(x,p)=(y,p)=1
t
Al {XZ}a); @:%X ptiE &
x> =k(mod p') = x* = k(mod p)

pehs Sl idcd 051 Pl 22

{Xz}z{ap+ﬂ|ae N, B = c?(mod p), (5, p):l}
xz}: {ap+ﬂ|a e N, B =ac’(mod p), (5, p) :1}

-.ax? +by? =k(mod p') 2.} %< ax? +by? =k(mod p) . F 2
ax’ +by? =0(mod p) 7 2£(0,0) 7f%

% ax? +by? =0(mod p) 7 #£(0,0) cFfE pF

o i p=dk+lirp=4k-1kFH
p=4k +1pF
X2 +y?=0(mod p) 7 f%

p+1



~ax?+by? =0(mod p) } f2 < abe )& abe x)- {2}
p—4k 1p*

“x* +y?=0(mod p) & f%

. ax? +by =0(modp) F f#<>ae X’} ¥ be)-{x*}& & %
#7120 ax? +by? =k(mod p*) vk |27 F’ﬂﬁiﬁ( b)
% LPea
—)ﬁ pI _ pt—lﬁég,\;‘z{‘

t t-1

ﬁ%bzﬁﬂiﬁ_@&?%

e(ab) PP

2
A -p™h? _olp)
fZ(p )_ 2 2
(Z)meN
#m=]]pr

% drax® +by’ =k(modm) 7 f#= a,x* + by’ =k(mod p{) } f#
X %”ax2+by2=k(modpf‘i)vk'5”‘ f#

& RU0E & e Y T B

ple @3- k7 (a,b)

d ¢ W4T I ov 35 Flre- - 2 (a,b)i% AL
a= a(modp, ),b=Db,(mod p/) F O0<a,b<m

)K(I,I % 7 Hf(pl)

rés;*?fz()
=HWW)
F 4 m= Hp.Hp, P # P,

i=1 j=k+1

54

= Za = k(mod m)

(- )meP (mn)=1
£ s apahiR
gt p in AT B S s s, st
-



-1 . _
Eh] Sn’SZn’.__S(p—l)n 2 p—@m%
{ }P (p—l,n)

¥ xR (a,a,,.,a,)

> ax" =k(mod p) Vk £} %
i=1

X d 2 Fslim

(p-1,n)
¥ ’5’ a.

i I)(_” =k(mod p) Vk 'E-’ﬁ ﬁ;

i
i=1

f(X1)= Zn:aixin = k(mOd p)
i=1
f'(x,)=na,x"*
R iaixin =k(mod p) 7 2% % f#
i=1

Al f'(x,)=nax " #0
1. % k = 0(mod p)
PR > G F fR

2. % k =0(mod p)
(Dn>p
¥ zﬁzk:ai(k =12---n)

d %‘%'%E },‘—?!If‘-l—'z‘rn‘ds"ﬁ 3 ﬂﬂ‘f\-"ﬁléﬁ

i=1 i=1
|
Al > a;=0
i=j+1
ey
X =X = =XJ=XI+1 X ==X,
T E - LR




Fla ARG i & > & 34mn=p-1(n, p-D=1 & ffim
a.n=p-1
A Fa=a-=-=a

n

Zaixin =0(mod p) #& 2= % f2
i1

#Czn:aixin = kp(mod p') & % (k +mp™,me N)
i=1

Fad A Bl AR

k n-2
@Zak,kzl,Z,---,n—Z,[ ai]+an_l
=1

n-2
+a,, (Zaij+an_1+an’r—1 JoR 3

i=1

VR

— =1

. IML
o

N

i=1
E]‘]xl—xzz :X|—11X|+1 X ==X, = qpﬁ"jk’?ﬁ;
|5 @ N 4p &

Flp e = F14R 54 S D R 2 14

iaixi“ =0(mod p) & ¥ ¢ Zn:aixi = 0(mod p)
i=1 i=1

\rr'

x> ax, =0(mod p) - TF 2
i=1

#Zaixin =0(mod p) .L/.\’ﬁ P ¥
i=1
d bikv

—_ A

7 2

¥



B n>op R

fu ()2 0(p)
F n=p-1pF
f(p)=0(p') -(P-1)20(p') -¢(p)
¥ n=p-2pF
fo ()= 0(p)

n

n

(Z)meN
%mﬂiw

> ax! =k(modm) < > a;x! =k(mod p’), j=12,---
i=1 i=1

xd P R

HiE - iolla,.e,, )
FE WG - e(a,a,,-a,)is
a =a (mod p]."') Vj=12---s & =

wn

B f, (m)= 1_1[ fo (P ),-1_1 f(p )2 1i[¢( P ,_;1

k n
()& m=]]n]]P" p=p,
i=1 j=k+1
2
Al f,(m)= go(?jk)
2
k S
(Z)&m=[]n]]p}
i=1 j=k+1

Fn>maxip,fj=k+Lk+2,s & (ng(m))=1



F~AKREH
(- ) Fh f, (m) sk iE

(=) iai =k(mod m) L’j‘ f2enig it

W

3’7\ N 2‘&':'1; 4 )EJC
EAGE S ERE A EEch CR AR TR

i e

(- )FIL= FgEm

£4 A={a, =0a,--a,} B={b=0b,---b,} mn<p

(D& m=2
C={a,a,---a,,a +h,,a,+b,---a, +b,}
#[Cl=[A]

Al {a, +b,,a, +b,---a, +b,j=A

n

> (a + Za +nb, _Za

i=1

nb, = 0(mod p)
b, 20 -.n=0(modp)* &
Jcl2 A +1=]Al+[B -1 % =

(2)Xm<kpF= =
m=k+1pF
L% G a +b,

d A - g
% a +b, g A



?\;Q;‘%’ a‘2

£ A'=A+fa, +b,} B'={p,|a,+b, cAf

d a,B~Z 4 A'>A B'<B |A|+|B|=|Al+|B]

£ (a2+bj)+b'j:(a2+b'j)+bj eC
~.|Al+[B|-1=|A+B]-1<|C|=|x+ Y| x e A",y e B'}
<|x+ylxeA,yeBj=|C|

0 R R e s 2

(Z)z e g .
Flf(x) » — %38 3% e
R B &
f(x)=f(a)+ f'(a)x—a)+

£ x=ap"+a

1"(a)

f''(a 2
X_a
2*1( )

f(x)= f(a)+ f'(@)ap" (mod p*")

-+ f(a)=c(mod p")

- fa)=c+rp"

f(x)= f(a)+ f'(@ap" =c+(r+ f'(a)e)p"(mod p>")
% f(x)=c

@ (r+ f'(@a)p" =0(mod p*") < r + f'(a)e = 0(mod p")
* F](f'(a)p") =1

B ERs g 3R

bATA -



EARFrLIEY [ EAEETE

040422
AR A = R Za X " =k(modm) , (mn)=1, vk & F &

(__xl._ Xrsos Xpg ]ﬂ_0<a <m I’i]i@fﬂa 5ol |z A& A Bt L 1, (m)
BT Rt

e RIS

?‘;il"—?‘a::

L. % Jﬁimﬁ

3 b ot e B i R A G
B M2 N2 5 R o



